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/ Coordinate Geometry Review
W

‘\\ 1. The vertices of triangle ABC are A(7, 1), B(7, 5), and C(10, 1). Find the area of the
(\ ‘/ triangte using the distance formula.

QN ) i}
?\fﬂ” il LT d Az GL '_fo( { _b)g,
' ; o — Wl
2 4= Jorio =dw=4
NS ol BC (o) (571)
e SERTC)”

N VRPN

A pc= JGACPCI-IP

- oY

d o-/a:-3
A-bh_ 34 Gur)
57 o

=i

b4
V¥hat are the coordinates of the midpoint of the line segment whaose endpoints are and d{
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Find the value of k so that the‘ ope of the line joining (-1 1 and [5,2!2 is 20.
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What is the slope of a line that is perpendicular to the line whose equation is 2x - y = 77
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Slope S

The coordinates of the midpoint of line segment AB are {1,2). Ifthe coordinates of point A are (1.0),

find the cpordinates of point B.
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Write an equation of the line parallel to the line 5y + Bx = 11 and passing through the paint (-3, 7).
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8. Write the equatlon of the line, in slope-intercept form, that is the perpendicular
bisector of the line segment having endpoints of (-4,-2) and (8, 4).
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AB is the diamster of the circle shown in the accompanying diagram.
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What are the coordinates of the center of this circle?
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10.

Find the value of &, given the pPints P{-1,5) and Q(k.2}, if PQ has slope, m = Undefined.
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The equations of two lines are 5x = 4y - 10 and &y - 4x = 7. Determine whether these lines are

Hy/ = 3x+0 2= ;‘LXJ’—“;
= 1
Y= -«J“ff V=25
s mﬂ--f:t
. o These \mﬁS are Nerthed

Find, in simplest radical form, the dlsiance between points (-1,5) and {-7.3}.
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in quadrilateral ABCD, 2B ¢ CD. fthe slope of AB and CD are = and
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4 T respectively, then what

is the value of x7




